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Age related expectations identify what is expected of our learners by a specified age, stage or year group. Our curriculum defines these as a
set of standard expectations which are defined as, exemplars, descriptors or questions.

By the end of Term 1 in Year 7, students...

..will know this:

Y7 History Knowledge Organiser: Medieval Kings
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...and will be able to write this:

William of Normandy became King in 1066 because he was the strongest contender to
begin with. He was a good leader, skilled in battle and had experience of government but
most importantly, he was related to Edward the Confessor. They were related by blood
through Emma of Normandy who was Edward’s mother and William's aunt. However,
Harold Godwinson was also related to Edward but this was through marriage as his sister
Edith was Edward’s wife. Being blood related was important because of the idea of the
Divine Right of Kings. People believed that being a King was a God given right which could
only be passed on within families. This led to William becoming King in 1066 because it
meant that people recognised that he had a right to the throne and therefore his people
were willing to fight fiercely for him.

A further reason that William of Normandy became King in 1066 was that he was better
prepared for the Battle of Hastings than Harold Godwinson. When William landed in
England in September he built a wooden castle to protect his soldiers while they rested
and ate. Harold’s Godwinson's army was not prepared, his men were tired as they had
already fought the Battle of Samford Bridge and then had marched 180 miles to get to
Hastings. This led to William becoming King in 1066 because his army were better
prepared and therefore able to fight better which made it more likely that William would
win the Battle of Hastings.

The final reason that William of Mormandy became King in 1066 was that William's
soldiers and strategy were better than Harold Godwinson's soldiers and strategies.
William’s army was made up of a highly trained combination of infantry, archers and
cavalry while Harold’s army was made up of the untrained peasant farmers known as the
Fyrd and the trained Housecarls. William’s army used a superior strategy as they feigned a
retreat to trick Harold into breaking his shield wall which led to the slaughter of much of
the Fyrd. William’s army was well trained so they used better strategies and therefore
won the Battle of Hastings where Harold Godwinson was killed. This led to William
becoming King in 1066 because he was the only contender left alive after the Battle of
Stamford Bridge and the Battle of Hastings.

In conclusion, William having the best army and strategies was the most important factor
in why he became King of England in 1066. This is because it meant that even though
Harold had the advantage of being on Senlac Hill he was able to defeat his army and kill
Harold Godwinson which ultimately led to him being able to take the English crown.



GLOUCESTER

‘ GREENSHAW

LEARNING TRUST

Topic Second order concept AREs
1.  Early Middle Ages Causation - To know that historical events happened for multiple distinct
2. Norman Conquest reasons
3. Medieval Monarchs | Change & Continuity - To know that historians divide up the past using dating conventions
4. Islamic Science (dates, centuries, decades, etc) but also more nebulous concepts
5. Silk Roads such as eras, ages, and periods
6. Medieval Mali Similarity & Difference - To know that historical societies had different values and
7. Tudor England circumstances to our society today and that this difference shaped
8. Reformation individual actions
9. Elizabeth’s problems | Evidential Understanding - To know that all historical knowledge is produced by historians
10.  English Civil War making inferences from sources
1. Oliver Ctjomwell Historical Interpretations - To know that the past is not fixed, but rather is constructed by
12.  Restoration England historians
13. Early Modern Health

and Crime and
Punishment

Writing History

To use historical knowledge to support broader points in a written
paragraph
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By the end of Term 1 in Year 8, students...

..will know this:
Y8 History Knowledge Organiser: The British Empire = — T
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...and will be able to write this:

Miall Ferguson has a positive interpretation of the British Empire. He suggests that
the British Empire “enhanced global welfare” and was therefore “a Good Thing™.

On one hand, Ferguson’s interpretation is valid and reliable because Ferguson is a
professional historian. His interpretation is based on archival research into
different sources. His work has also been peer-reviewed by other historians. This
suggests that the interpretation is reliable because it is both well-researched and
accurate. On the other hand, Ferguson's interpretation is less reliable because of
his political views. As a neo-conservative, Ferguson supports a new British and
American Empire in the 21 Century. This means he is less reliable because he is
likely to exaggerate the positives of the British Empire to show that, if it worked
in the past, it could work again in the future.

Ferguson's interpretation can be supported by the fact that the British Empire
brought many benefits to the world. For example, the British Raj in India built
over 24,000 km of railways, allowing Indians to travel and trade more easily. The
British also introduced medicines such as quinine to stop malaria, which increased
life expectancy in India by 11 years over the course of the Raj. This supports the
interpretation because it shows that the British did indeed enhance global
welfare,

However, there is an alternative interpretation of the British Empire which is that
the Empire did not enhance global welfare, but actually made life harder for most
people it ruled over. This can be supported by the fact that the British Empire was
the major player in the transatlantic slave trade. By 1760, 42,000 Africans were
transported from Africa to America on British ships. British ports like Liverpool
and British became wealthy as a result of this. This challenges Ferguson’'s
interpretation because it shows that for millions of Africans the British Empire was
not at all a “Good Thing'.

Overall, | agree with Ferguson’s interpretation to a moderate extent because,
although the Empire brought some positives to places like India, Ferguson ignores
the crimes of the British Empire such as the slave trade.
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Topic Second order concept AREs

1. British Empire Causation
2. British rule in India
3. Transatlantic Slave

- To know that historians categorise factors according to their
type (political, economic, etc), their role (latent, trigger,
underlying), and their temporality (short term, long term, etc)

Trade Change & Continuit
4. Legacy of Abolition 9 y - To know past societies were not fixed, but changed over time
5.  Jim Crow Similaritv & Diff
6 Development of imitarity Ifrerence - To know that study of a historical period or individual must

Democracy take into account the ways in which their historical
7 Industrial Revolution circumstances were different to our own
8. Votes for Women Evidential Understanding
9.  First World War
0. Conscientious
Objectors - To know that historians produce different interpretations of
11.  Interwar Years past societies
12. Second World War Writing History

- To know that this process involves historians weighing the
evidence from a range of often contradictory sources

Historical Interpretations

- To integrate evidence from sources / interpretation to support
broader points
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By the end of Term 1

..will know this:

in Year 9, students...
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...and will be able to write this:

Even though slavery had ended in 1865, there were still many problems facing African
Americans such as segregation, disenfranchisement, and illiteracy. The historian Pete
Daniel said that Jim Crow was like a patchwork quilt because all the problems were
linked together and together they were more than the sum of their parts.

Segregation was the separation of white and black Americans in schools, restaurants,
bathrooms, and other facilities. In 1896 the Plessy vs. Ferguson Supreme Court case
stated that segregation should be legal. This was a problem for African Americans
because segregated facilities were often worse than white facilities. Segregation
exacerbated the problem of illiteracy because it was difficult for African Americans to
improve their literacy because they went to segregated schools that had poor facilities
and badly-paid teachers.

Illiteracy means not being able to read or write. Jim Crow laws in southern states
meant that African American children had to attend underfunded schools where they
were taught by underpaid and badly trained teachers. In 1880, 76% of African
Americans in the South were unable to read and write compared to 21% of white
Americans. This was a problem for African Americans because illiteracy made it very
difficult to find employment outside of sharecropping which then led to debt and
poverty. llliteracy facilitated disenfranchisement because one method southern whites
used to stop black southerners from voting was introducing literacy tests. African
Americans struggled to pass literacy tests and therefore were not allowed to vote.

Disenfranchisement means not being able to vote. White southerners used various
methods to stop African Americans from voting including introducing literacy tests and
poll taxes. African Americans often could not pay poll taxes because they lived in
poverty. White groups also used violence such as lynchings to stop African Americans
from voting. This was a problem for African Americans because they could not vote for
politicians who opposed the Jim Crow laws or who would take steps to stop lynching.
Disenfranchisement therefore underpinned segregation because it meant that African
Americans could not change the segregation laws.
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Topic Second order concepts AREs
Causation - To know that causes do not exist in isolation but that there are different types of

1 Early 20th Century relationships between causes (exacerbating, etc)
Britain - ___To know that different causes were more or less important in causing events

2. Communist Russia Change & COI‘ItII‘lUIty - To know that changes and continuities existed alongside one another

3. Weimar Germany - To know that historians change as a process that varies in terms of pace and

4. 1920’s USA extent at different times

5. Impact of the Second - To know that historians used concepts such as revolutions, turning points, or
World War stagnation to describe historical change

6. Post War Britain Similarity & Difference - To know that historical societies were diverse and that the past was not

7. Cold War experienced by everybody in the same way

8. American Civil - To know that these diverse experiences were conditioned by categories of race,
Rights age, gender, geography, etc

9. Black British Evidential Understanding - To know that historians evaluate sources in light on their existing knowledge and
Experience understanding

10. The Holocaust
11. South Africa
12.Terrorism

To know that a source’s utility depends on the questions being asked of it and that
all sources are useful in some way

To know that historians must take into account the fact that all sources reflect the
views and context of their author

Historical Interpretations

To know that historical interpretations contain broad arguments about the past and
its meaning

To know that historical interpretations reflect their authors’ context, viewpoint,
purpose, and intended audience as well as the evidence they have chosen to use

Writing History

To structure historical writing with clear paragraphs making distinct points
answering the set question

To explicitly weight up evidence in order to reach clear judgements




